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(a) (b) 100
tH-a>o)—k 5 5 2 3 40.0
Hhfig - ELHE 1 1 1 0 100.0
Jrigi- & 3 3 3 0 100.0
& 0 - - - -
E-FE 0 - - - -
ERE 1 1 1 0 100.0
I -TRIAN 5 5 3 2 60.0
AVTFUR 2 2 2 0 100.0
;P 1 1 1 0 100.0
R 2 2 1 1 50.0
B 20 20 14 6 70.0
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(a) (N) (AN) (AN) (b) 100
|-aro)—k 21 17 7 4 4 7 10 412
Hh A& - B 10 9 4 3 3 4 5 44.4
Jrigi- &hh 31 25 14 6 6 14 11 56.0
RiE 15 12 8 5 5 8 4 66.7
FE-SE 2 1 1 1 1 1 0 100.0
%Et 7 5 2 2 2 2 3 40.0
MBI -TRIAN 20 17 6 4 2 4 13 235
AUTFFUR 11 6 3 2 2 3 3 50.0
[ & 15 9 7 3 3 7 2 77.8
fier) 14 10 2 1 1 2 8 20.0
it 146 111 54 31 29 52 59 46.8
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BRDEE (a) (AN) (N) (N) (b) 100
B (&) 59 46 23 - - 23 23 50.0
i (ZER) 87 65 31 31 29 29 36 44.6
B 146 111 54 31 29 52 59 46.8
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BEST AN ol i liche i
(a) (b) 100
fH-a>0)—k 12 12 10 2 83.3
HhAg - B 12 12 11 1 91.7
AT - e 30 28 21 7 75.0
BE-BE 6 6 6 0 100.0
#RTH - Hhisg 4 4 2 2 50.0
XA 15 15 9 6 60.0
P RIL-HT 22 21 18 3 85.7
5 4 4 3 1 75.0
AE-AE 2 2 1 1 50.0
IHRTAVE 24 22 19 3 86.4
;P 5 5 5 0 100.0
RE-IR)IL¥— 2 1 1 0 100.0
=i 138 132 106 26 80.3
1B EEE (O—XA)
g om | TR =) v | B HEEE (%)
BHHH ke RESH | ARER ke Aipata
(a) (b) 100
|-avo)—k 37 31 12 19 38.7
HhfE - LR 12 10 6 4 60.0
i - #m 62 49 14 35 28.6
RiE 4 33 9 24 273
E-EE 21 13 1 12 7.7
B 26 20 7 13 35.0
BI-IRIAUE 24 20 9 11 45.0
AVTFUR 35 24 13 11 54.2
i 37 29 14 15 48.3
RiE 17 14 6 8 429
it 312 243 91 152 37.4
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eumEen | maaw | TEEH | apay [ranan SO
DEE (AN) @ (N) (b) (N) 100
A (k) 147 124 52 72 419
" (ZER) 165 119 39 80 3238
& 312 243 91 152 374
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BT RIS ol labicie CEHER Apaiak
(a) (b) 100
fM-a>o)—k 4 3 2 1 66.7
e - R 5 4 3 1 75.0
AT - i 25 23 11 12 478
wmE-BF 6 6 5 1 83.3
#Br - Hhig 0 - - - -
RiE 6 5 0 100.0
FoRIL-H#TF 9 6 3 66.7
52 0 - - - -
RE-HE 0 - - - -
IR AL 4 4 3 1 75.0
[ 1 1 1 0 100.0
RE-ITRILE¥— 2 2 1 1 50.0
=&t 62 57 37 20 64.9
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2R ol onral I xl i il (b))
BE-EAERH 12 11 10 1 91.0
K# 619 559 401 158] 71.8
R 296 256 197 59| 77.0
{BiERE 9 8 5 3| 62.6
t = A 177 129 97 32 75.3
ZDith 2 1 1 0 100.0
&t 1115 964 711 253] 73.8




